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Equazioni differenziali - 0
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For some branches of the general solution, the given boundary conditions lead to an empty solution. �
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Funzioni di due variabili, punti critici - 0
aa = RegionPlotA93 y2 - 24 < 3 x2 < y=, 8x, -1.5, 1.5<, 8y, -0.5, 3.5<, MaxRecursion ® 10, Axes ® TrueE;

ab = ContourPlotA9x2 - y2 + 8 � 0=, 8x, -1.5, 1.5<, 8y, -0.5, 3.5<E;

ac = ContourPlotA93 x2 - y � 0=, 8x, -1.5, 1.5<, 8y, -0.5, 3.5<E;
Show@aa, ab, acD
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la funzione è f Hx, yL = 9 x2 - y3

In[1]:= h@t_, y_D := 9 t - y3; f@x_, y_D := hAx2, yE;
Print@f@x, yDD;

g1@y_D := hB
y

3
, yF; Print@8g1@yD, g1'@yD<D

9 x2 - y3

93 y - y3, 3 - 3 y2=

Print@8g1@0D, g1@1D, g1@3D<D

80, 2, -18<

In[4]:= g2@y_D := hA-8 + y2, yE; Print@8g2@yD, g2'@yD<D

9-y3 + 9 I-8 + y2M, 18 y - 3 y2=



In[5]:= PrintB:g2B 8 F, g2@3D>F

:-16 2 , -18>

Integrale doppio - 0

aa = RegionPlotB:
y

2
< x < y && y < 2>, 8x, -0.5, 2.5<, 8y, -0.5, 2.5<, MaxRecursion ® 10, Axes ® TrueF;

ab = ContourPlot@8x - y � 0<, 8x, -0.5, 2.5<, 8y, -0.5, 2.5<D;
ac = ContourPlot@82 - y � 0<, 8x, -0.5, 2.5<, 8y, -0.5, 2.5<D;

ad = ContourPlotB:
y

2
== x>, 8x, -0.5, 2.5<, 8y, -0.5, 2.5<F;

Show@aa, ab, ac, adD
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Numeri complessi - DA FARE

:AbsBJ-ä - 3 NF, ArgBJ-ä - 3 NF>

:2, -
5 Π

6
>

:AbsBJ-ä - 3 N
9
F, ArgBJ-ä - 3 N

9
F>

:512,
Π

2
>

SolveBz3 == J-ä - 3 N
9
, zF

98z ® -8 ä<, 9z ® 8 H-1L1�6=, 9z ® 8 H-1L5�6==

2   ch.ind.2018.06.11.nb



PrintBTableB
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Matrici, autovalori - Da fare

A =
1
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;

Print@Eigenvalues@ADD; Print@Orthogonalize@Eigenvectors@ADDD
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